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Formula for radius of conver
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Exercises from page 33

6. Find the radius of convergence for each of the following power series:

(@) Y a"z", aeC; (b) ): a’z" aeC; (c) Z k"z" k an integer #0; (d) Z z"
n=0 /
W Id(l -V—vm.. R=¢a= n‘ Ial") e R=0;, if /4./~
7. Show that the radius of convergence of the power series R= |

o I =1) n(n+ 1)

A= n

is 1, and discuss convergence for z = 1, —1, and i. (Hint: The nth co-
efficient of this series is not (—1)"/n.)
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Open problem (Convergence sets of power series). Call asubset Sof {z€ C : |z| =1} (the
unit circle) a convergence set if there exists a power series with radius of convergence equal

to 1 that converges when z € § and diverges when |z| = 1 but z € S.
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Characterize the convergence sets.
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